Amphenol

DSub SD/G17S Series Solder-pot Type for Low Volume Terminations

3: Full gold flash 2: Nickel

Most popular Part Numbers noted below. | Materials Available Upon Request
Both SD and G17S conform to Mil-C-24308. | SD — Tin plated Steel » 50 Way Versions
SD is supplied form Europe while G17S is | G17S — Tin/Lead over Nickel : xar!ous gﬁnltlag FIEIShe;I 15(#31;]AU, 3?11"AUN_ el
H arious el Inishes: Zinc romate or Nicke
supplied from ASIA. plated Carbon Ste?' » Various Screw Locks: #4-40, M3
. Insulator — 94V-0 thermoplastic
Electrical Contacts Pi B ) For'G PartNumbers
Current —5A Contacts S'" cets PL"’SS hor B Accessories S o ke
Voltage — 250VAC/rms 60Hz ontacts Sockets - Pnosphor Bronze Hoods — Page F-9 Joirieteig
Finish — Gold Flash ol added fr
Mechanical Board-locks -P/B ot Eanumbes
Durability — 75 Cycles Screw-locks — Brass Complantprodut
Common Parts SD G17S Dimensions (mm)
Gender Positions Part Number: Part Number: A B C D E
9 Way 717SDEQ9P G17S0910110 30.84 24.99 16.92 16.24 19.28
2 15 Way 717SDA15P G17S1510110 39.24 33.32 24.70 24.56 27.51
= 25 way 717SDB25P G17S2510110 53.04 47.04 38.96 38.38 41.30
37 Way 717SDC37P G17S3710110 69.32 63.50 55.42 54.76 57.71
° 9 Way 77SDEQ9S G17S0900110 30.84 24.99 16.92 16.24 19.28
E 15 Way 77SDA15S G17S1500110 39.24 33.32 24.70 24.56 27.51
K 25 way 77SDB25S G17S2500110 53.04 47.04 38.96 38.38 41.30
37 Way 77SDC37S G17S3700110 69.32 63.50 55.42 54.76 57.71
Detailed Part Number System Common Part Specifications
G17S XX XXXXX
DSub CONNECTOR ~ —— L FLANGE MOUNTING OPTION A20.38 (.015) | Juuu L(( I |
[ oot o B:0.13 (.005) g T e\ o [T
NUMBER OF POSITIONS 2: #4-40 threaded screw-lock C+0.13 ( .005! & QA ! ;O:
: ition in: [} 5 . T - —~
gg 25Pg§st!to!on 3 #asrtjgelgreaded screw-lock ; D+0.13 (-005) % g ; g % ’N\ :r‘ S
57 27 posion 4 13 oot hole & E0.05 (.002) RN F£0.13(005) | §| 3|
50: 50 Position 5: M3 screw-lock installed < : POSITION #1 -~ ™ o | ©
7: #4-40 threaded screw-lock 9 [ @ / \ ! [gV) 0| —
[CONTACT STYLE clinch-mounted installed N \ — =
0: Receptacle 644644 660 66D) | 2
1: Plug BACK SHELL FINISH Es>2 N AR '¢Y$\ booooe '6% N N
CONTACT FINISH ———————————— 25 %::ng:iiog‘va:Nlckel A z T:f
0 Golg Flash F.RO_NT SHELL FINISH — 2: Nickel Ql 2 77 ( 109)
5 aou Gold 1 Thitead over Nicke LG @3.05 (.120 dia) 57

PNS17S Rev.A, DSUB-G17SXX0XXX0-25 Rev.A, E5.B

DSub RR/G17R Rear Release Crimp Contact Type for High Volume Termination

Most popular Part Numbers noted below. | Materials Available Upon Request
Both RR and G17R conform to Mil-C-24308. | RR — Tin plated Steel » 50 Way Versions
RR is supplied form Europe while G17R is | G17R — Tin/Lead over Nickel : xar!ous gﬁnﬁaﬁ-t '_:'E'She; 15(#31;1Auv 30“"AUN_ el
supplied from ASIA. arious Shell Finishes: Zinc Chromate or Nicke
pp plated Carbon Ste?' » Various Screw Locks: #4-40, M3
Electrical Insulator — 94V-0 thermoplastic )
Current 5A Contacts Pin — Brass Tools (RR Series only)
- _ Insertion/Removal Tool- 17D438SP
Voltage — 250VAC/rms 60Hz gi?]?;ﬁds Sockets _ gt;?ds?:Tac‘)sthronze Crimp Machine - 970MC
: s Crimp Die 20-24AWG - 968MC
Accessories — Hoods Page F-9 Durability — 75 Cycles Crimp Die 24-28AWG - 972MC
Common Parts RR G17R Dimensions (mm)
Gender Positions Part Number: Part Number: A B C D E F
9 Way 777RREQ9P G17R091100 30.84 24.99 16.92 16.24 11.09 19.28
% 15 Way 777RRA15P G17R151100 39.24 33.32 24.70 24.56 19.39 27.51
= 25 way 777TRRB25P G17R251100 53.04 47.04 38.96 38.38 33.24 41.30
37 Way 777TRRC37P G17R371100 69.32 63.50 55.42 54.76 49.86 57.71
o 9 Way 177RREQ9S G17R090100 30.84 24.99 16.92 16.24 11.09 19.28
E 15 Way 177RRA15S G17R150100 39.24 33.32 24.70 24.56 19.39 27.51
K 25 way 177RRB25S G17R250100 53.04 47.04 38.96 38.38 33.24 41.30
37 Way 177RRC37S G17R370100 69.32 63.50 55.42 54.76 49.86 57.71
. For RR Series 10K/Reel Left Hand Feed For G17R Series 10K/Reel Left Hand Feed
Crimp Contacts 20-24 AWG 24-28 AWG 1824 AWG 24-28 AWG 28-32 AWG
Pins for Male Hse. Part Number: 17RRD1M1110G 17RRD2M1110G G17RC10141 G17RC10142 G17RC10143
Sockets for Female Hse. Part Number: 17RRD1F1110G 17RRD2F1110G G17RC00141 G17RC00142 G17RC00143
Detailed Part Number System Common Part Specifications prr——.
G17R XX XX X A20.38 (015) 7 TRt
b OB CONNECTOR 81013 (005) 8|2 g e,
Crimp type Cable Mount ’g‘ C+0.13 (.005) ?g §:’ laoor»—‘cLSr‘cgr‘:\‘;;:tdss:%ﬁt.
NUMBER OF POSITIONS FLANGE MOUNTING OPTION E1RPS I D+0.13 (.005) § § i‘é;"é?iéf"’[‘.ﬁ‘,?gﬁi’é
09: 9 Position 0: @3.05mm clear hole 2|9 £+0.05 (.002) 2l 3 Compliant product
15: 15 Position 1: #4-40 threaded hole o = A
25: 25 Position 2: #4-40 threaded screw-lock S POSITION #1 20 S _
37: 37 Position installed ) & « I |
50: 50 Position 3: #4-40 threaded hole with @© A 1 [
CONTACT STYLE ;;4{;0 mrkeadued screw-lock et é.lk revrey PN |
0: Receptacle 4: Mu3 t]wprae:dZd hole ;L* ¢ ¢ )] W AN T
S i messadronn 2 5 g [ ]
FRONT SHELL FINISH . M2.6 screw-lock bulk-packed QJ 2.77 (.109) 9305 (120) S =
0: Zinc chromate 7: #4-40 threaded screw-lock 2 21 5 o |10.72
1: Tin/Lead over Nickel clinch-mounted installed wl a3 5

2: Nickel

PNS-17R Rev.A, DSUB-G17R09010-25 Rev.A, E11/A

ASF-D/IAMTA

F-2




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


